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= 490,000
SH JZMENESHAY 1,621,000 400,000 1,221,000
= 1,135,000
= 486,000
403 XX SHHMS X201 A 1,621,000 400,000 1,221,000
Fag 1,135,000
= 486,000
02 2SO UeHI =X EAF I 1,621,000 400,000 1,221,000
O=2H JxZMEHEESH(ED)
1,621,000,000& 14! 1,621,000
g 1,135,000
= 486,000
DISSHRAXNSHE (=X R)(HE)(HEAIY) 200,000 200,000 0
o= 60,000
= 140,000
401 Al HI L 204 HI 200,000 200,000 0
o= 60,000
= 140,000

w
|




FN: sESSHL
HE: sEMESHYTY
Sl mEX Y (29l & 2)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 198,560 198,560 0
ODISLRANENL (F2X)(He)
198,560, 000& 14 198,560
< 60,000
e 138,560
03 Al 2 THHI 1,440 1,440 0
ODISESRINENL (TR XR)(H)
200,000,000& *0.72% 1,440
DISEHAXNSHL (SN R) (M) (HEAY) 200,000 200,000 0
< 60,000
s 140,000
401 Al HIZ 201 I 200,000 200,000 0
< 60,000
s 140,000
01 A& HI 198,560 198,560 0
ONISEHATENL (SN D) (B &)
198,560, 000& 14 198,560
< 60,000
s 138,560
03 AlE S THHI 1,440 1,440 0
ONtSEANEMNL (SR ) (HE)
200,000,000& *0.72% 1,440
S= MEY ZHAMY 2,203,168 2,161,200 41,968
2 1,470,000
s 733,168
101 @14 dl 103, 168 61,200 41,968
04 JIZHHZ2XREES 103,168 61,200 41,968
O=s& deEdseAaiy 29 103,168
Oy 2,400,000& »3H x 123 86,400
Oz &Hl 100,000& 3 «12& 3,600
OO0 bl 50,0003 x3H 12 1,800
OFEFItHI 500, 000& *23] 1,000
Od4H2E = 28,800,000 »3H x12% 10,368
307 21201 A 150,000 205,000 A 55,000
s 105,000
s 45,000
02 UAFLAFEX 150,000 205,000 A 55,000
Os& MEASAHA AY 150,000, 000& * 14! 150,000
as 105,000
fia 45,000
403 XSS A=0l& 1,950,000 1,885,000 65,000
s 1,365,000
s 585,000
02 S 2S00 CHE A EE & AL H 1,950,000 1,885,000 65,000




2N =&
=

XM ZEH: ==
S =

Sl mEXC Y EEREED
- RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OsE MEHEEHA MY
1,950,000,000& =14l 1,950,000
Fag 1,365,000
= 585,000
SEXNY FHAXSA MESHAHA HXASY 513,000 0 513,000
g 374,000
& 41,000
= 98,000
403 XX SHHS K20 & 513,000 0 513,000
g 374,000
== 41,000
= 98,000
02 BI2SHUESXA2EAEAIS Y 513,000 0 513,000
O=F FAXNY MEBHH MEAL (011X F)
(Zzz) 513,000,000 = 1Al 513,000
Fag 374,000
& 41,000
= 98,000
OISHAXNSHLAL(2LEXN ) (HE) 100,000 0 100,000
401 AlEHIZL 201 Y| 100,000 0 100,000
01 Al&H| 99,100 0 99, 100
ONISEHAXNENL(2EX ) (HEH)
99,100, 000& = 14! 99,100
03 Al 201 Y| 900 0 900
ONISEHAXNESNL(2EX ) (HEH)
100,000,000 *0.90% 900
IISHAXNSHE MG (DAH2X2)(HEH) 100,000 0 100,000
401 Al HI L 2 0HHI 100,000 0 100,000
01 A& HI 99,100 0 99, 100
OUISHAXNSHE (D H2X ) (& &)
99,100, 000& x 14! 99,100
03 Al 201 Y| 900 0 900
oSNNS MHL (D H2XF) (X EH)
100,000, 000& *0.90% 900
OISCSHRAXNSHE AN (AKX 2)(HEH) 100,000 0 100,000
401 Al HI L £ 0HHI 100,000 0 100,000
01 Al& B 99,100 0 99,100
ONISSHAXSHL (2R P)(HEH)
99,100, 000 x 1Al 99,100
03 A& E2HH]| 900 0 900
OUISSHAXSHL (2R 2)(HEH)
100,000, 000 *0.90% 900
XH I =MEHEZHAMNH 400,000 0 400,000
g 280,000
o 120,000




FN: sESSHL
HE: sEMESHYTY
Sl mEX Y (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 400,000 0 400,000
s 280,000
s 120,000
02 S 2S00 CHE A = H & AH 400,000 0 400,000
OUXSEI=ZMENEZL (L)
400,000,000 =14 400,000
s 280,000
s 120,000
sE2E 245t 495,826 729,354 A 233,528
= 111,539
< 41,126
s 343,161
sEXNEUEet 2= 333,826 311,754 22,072
= 111,539
< 35,126
s 187,161
SENEFL0IS AARE &sH X 205,380 180,600 24,780
= 102,690
< 30,807
i 71,883
307 21201 A 205,380 180,600 24,780
= 102,690
< 30,807
[ia 71,883
02 IZtE S AIHE L 205,380 180,600 24,780
O=ZXNEs202 ARZE 238l XA
205,380,000 =14 205,380
= 102,690
< 30,807
s 71,883
SENEFL0IS A3 5,800 5,040 760
= 3,625
< 652
[ia 1,523
307 21201 A 5,800 5,040 760
= 3,625
< 652
s 1,523
02 It S AHE L 5,800 5,040 760
OsZEHEgzs2d0ts d&Ls Us N
5,800,000& » 14 5,800
= 3,625
< 652
s 1,523
SEMEs20ts 280t N 8,008 8,880 AB72
= 5,005
< 901
s 2,102
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FN: sESSHL
HE: SEEASH
Sl DY B4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=s4ESIISHEH JIHEH Bt
50,000,000& =14l 50,000
tsms g4st 163,000 121,000 42,000
307 gl2tol & 163,000 82,000 81,000
02 IZHE M AHE L 163,000 82,000 81,000
OJSHH Y=.012SH IHSmsS 243
200,000, 000& * 14! x50% 100,000
OA7 2 HACCP o1& XI&
30,000,000& *3IH 2= +70% 63,000
6X &Y |4 1,265,000 842,000 423,000
= 600,000
< 180,000
[ia 485,000
HLRIA sESSEN2TIEMIY 1,265,000 800,000 465,000
= 600,000
< 180,000
s 485,000
307 21201 A 850,000 50,000 800,000
= 425,000
< 127,500
[ia 297,500
02 IS AT EL 850,000 50,000 800,000
O N=sEE=EY AZEYJUHAMGE =&
850,000,000 =14 850,000
= 425,000
< 127,500
s 297,500
401 AIEHI L 201 415,000 750,000 A 335,000
= 175,000
= 52,500
[ia 187,500
01 A& tl 415,000 735,000 /320,000
ORI TetNFSHEH HEREXN sANHEREES
65,000,000& » 14! 65,000
OFINXet RS HE JIAHEZH &X
350,000,000& =14 350,000
= 175,000
< 52,500
[ia 122,500
HE2LZH (sE3SHL) 61,240 63,000 A 1,760
Jl2&dl 61,240 63,000 A 1,760
JlE2&l 61,240 63,000 A 1,760
201 L2l 40,720 41,520 A 800
01 At 22l 39,520 40,320 A 800
OgBt=&H| 25,920




2N
X ZH -
L= B

el

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET

OZN2S+=EHl 1,000,000& »12& 12,000
OAMEE8E 3 660,000& 128 7,920
OdlE & 7Yl 500,000& »12& 6,000
o=l 8,000 «17& 100 13,600

02 =224l 1,200 1,200 0
oz & FAE= 300,000& x4 & 1,200

202 odl 16,320 17,280 A 960

01 = LH o4 1l 16,320 17,280 A 960
O=otl 80,0003 17 «128 16,320

203 YR =] 4,200 4,200 0

04 FNSEHE=LH 4,200 4,200 0
ORN2IEYRF=AHI 350,000& »12& 4,200
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